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GENERAL INSTRUCTIONS TO THE Ewglas :

'Candidates must write Tirst his / her Roll No. on the question paper compulsorily.
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All the questions are compulsory.
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{ Write the answer to each question in the given answer-book only.
|
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4) ﬁﬂmﬁﬁmﬁﬁm%éﬁmﬁ%m@ma%@l

For questions having more than one part, the answers to
written together in continuity. '

L

those parts are to be

(5) TE-9F & &=t 9 s T ¥ Tt w6y / 3t/ fdemarg
T 3 79 Y € T A | A/ R R e et

If there is any error / difference / contradiction in Hindi & English version of the
question paper, the question of Hindi version should be treated valid.

(6) I %1 I o & qd W 1 ST ey T |

Write down the serial number of the question before attempting it.

(7) I o1 37 VR F=ER R |

Weightage of marks for the question is as follows.

wWUE-31(A) | 1(itox),2to1l 120" 1 20
@UE-4 (B) 12 t0 15 e 4 2 8
&vE-7 (C) 16t019-% | 4 3 12
e (D) 20,60 21. 2 4 8
W7 (E) 221623 2 4 8

(8) I SHATH 16 ¥ 23 T Taih fhed & |

Question No. 16 to 23 have internal choice.
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gig — A
SECTION - A
1. Prerifea et 3 ol 2w forehen o = ot ST gfeen | fefag —

9 Write the answer of following multiple choice questions in the given answer

book.
() Tr=fafeaddsmtsaws
(31) NaCl(s) () CHy(s)
(|) SiO4(s) (]) CClys)
Ionic solid among the following is~ ' ' 1
‘, (A) NaCL(s) (B) CH,()
(C) SiO4(s) (D) CCl(s)
(i) TSee Fram & o faem yeifa w0 e sTey faerE %1 W 8
(31) AT + 5 (F) WA + A
(g) VA + e AN (3) el + TR I
The pair of non-ideal solution exhibiting negati eviation from Raoult’s
law is - »13\? ' 1

(A) Methanol + Water .= 'f; B
(B) Acetone + Ethano] -%g:}%

(C) Methanol + Cakbbib tetrachloride

(D) Water + Hydrochloric acid

(iii) ﬁmwmmé

(1) Sm' | () S!im

(@ S!m! (7) Sm

The unit of specific conductance is - 1

A) Sm! B) S!'m

(C) S'm! (D) Sm

(iv) et e arfifren 3 am i 1 wevré 2

(31) mol L71s7! (@) s
” (g) mol! Ls™! (8) mol L-!

The unit of rate constant of second order reaction is - 1
| (A) mol Lts B) s7!
| ©) mol~! Ls (D) mol L! |
| §S-41-Chem. | Turn over
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(v) T=fefed & & e St wfa 2 -

(31) Aftrefa e (@) wrE
(®) TiO, (R ALO;xH,0
Negative charged colloidal sol among the following is : 1 N
(A) methylene blue (B) starch i
(€) TiO, (D) ALO;xH,0

(vi) Tt fagasRuershar aTer 7« &
(F) F | ) ci
(®) Br (R) 1
The element having maximum electronegativity is - 1
(A) F (B) cI
(C) Br = D) 1

(vii) FreaforRee # & sfeaehi s 2 -
(31) MnZ* (/) Cu+ \s
(@) Cul* (]) Fe3t
Diamagnetic ion among the following is : ./ N 1
(A) Mn2* (B) Cu2* :
(C) Cul* So5.0D) Fet

(viii) K5 [Fe(C,0,);] ¥ & Fe <1 arfeeftantor arareen
(31) +2 (F) +3
/) +4- ~ - (@) +6
Oxidation state of Fe in complex K;[Fe(C,0 )] is - |

‘ (A) +2 (B) +3

©) +4 (D) +6

(ix) Wﬁ%@mmﬁéﬁawﬁmﬁ%m%
(37) sp’ (@) sp
(@) sp . () spid?
Hybridized state of carbon atom bond )
- onded to halogen atom in chlorobenzene
(A) sp’ (B) sp? :
(€) sp | - (D) sp3d2
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x) Srfafag 3§ & 337 a1 it SaTfird gaTETear i @ ?

(31) 2-Af¥remdE (F@) =x-1-¢
(|) SR-2-H (7) s
Which of the following compound shows geometrical isomerism ?
(A) 2-methylpropene (B) but-1-ene
(C) but-2-ene (D) propene
T 2 & 8 3 Ie T U H GG :

'Q. 2 -8 : Answer the following questions in one line :

5 fremeier R o 3 R swea Hof b we R |

Write the value of axial angles for orthorhombic crystal system. 1

3. gafmnlt Hiiss H His T g fafet |

erte any one example of lyophobic collmdsé 1
4. b (Z = 64) F HEL TS

Write correct electronic c‘ég.iguration of Gadolinium (Z = 64). 1
5. ergufre SR S TUPAC T & |

Write IUPAC name of diethyl ether. | 1
6. Arfrepraisires 1 TR 9 fafaw |

Write chemical formula of semicarbazide. 1
7. wifierfe srfifsRaT 1 TERiS Tt fafe |

Write chemical equation of carbylamine reaction. 1
g 3P autaen % ‘B° e & Suflra wwfiri et G ol R SR |

Draw a diagram showing plane of symmetry present in the letter ‘B’ of English

alphabet. 1
SS-41-Chem. _ [ Turn over
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fw: e EEn 9 R 11 % ST, I gty § fafu |

Note : Write answers of question nos. 9 to 11 in answer book.,

9. ama%aﬁmmﬁ%mwmﬁwﬁm%

Homogeneous mixture of two or more chemical substances js called 1

10. FrafaRaa tamie afieon § fra wm < off St
CgH5OH + CCl, + 4KOH —> +4KCl+ 2H,0

Fill in the blank in the following chemical equation : 1
C4H,OH + CCI, + 4KOH —> +4KCI 4+ 21,0

11. w7 A 37 1 140 °C R0 e wiran 2 4 7 Profefio g TR |
When maleic acid is heated at 140 °C then on dg},ijfgimtion it forms

L L 1
gug -9
'SECTION - B
12. Sheher A i = it wemar 48y |
Explain Frenkel defect wii-h--,the help of diagram.

2
13. 5.0 g qifemm 1 Wl o Her 250 '
g FAZE mL N S | Ry &
GEIHTH - 3T JTrTaar FTd <hitrg | '
250 mL solution is prepared by dissolving 5.0 g of sodium chloride in
Calculate the mass — volume percentage of the solution, WREE.
| _ 2
14. (37) 3d-a“ﬁ%aﬂ=qﬁﬁﬁgaqlﬁCrHCu%ﬁ?ﬂq .
ST Sttt & 1 31 4}
g g ?
(s7) f-STeh TRl o} Gei™T HQT e a1 e STl & 7
(a) Why the value of second ionization enthalpy of Cr and ¢
compared to other elements of 3d — series ? 4 are higher as
(b) Why f-block elements are called rare earth element 9
) 1+1=2
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15. (31) wéﬁ%mmﬁé’sﬁqwmznqéﬁaﬁ%NaOHﬁmﬁ
AT ST R 7 TS TR €T |

(%) e At STFATET T SIS |

(a) What happens when reduction of nitro-benzene is carried out in presence

of Zn and alcoholic NaOH ? Give chemical equation.

(b) Draw resonating structures of aniline. 1+1=2

-9
SECTION - C
16. (31) ftrsmreor st afvams fefaa |

(a) . Write definition of adsorptlon

(b) What happens when electric current is passed through a colloidal sol ? |
(¢) Drawa labelled diagram of electro-dialysis method. 1+1+1=3

JvET/OR
37) ragior <6yt ferfa |
(=) o e & VI HIEE) Wit H g sy firemn S @ 7
(W) R o TR 1 A ot SIS |

(a) Write definition of absorption.

(b) What happens when an electrolyte is added to colloidal sol ?
(¢) Draw a labelled diagram of Cottrell smoke precipitator.

[ Turn over
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17. (37) [Co(NH,)]Cl, % %1 [UPAC 71 feafiaw |

(¥) w99 Hsel U A Hea A fadle Hifve |

(") [Ni(CN),]>~ et 3T 1 STy fr srrgw |

(a) .Write ITUPAC name of complex [Co(NH3)6]Cl3_

(b) Differentiate between coordination sphere and ionic sphere.

(c) Draw the geometrical diagram of complex jon [Ni(CN), ]2 1+1+1=3
HUYSFT/OR

(371) K4[Fe(CN)6] Agpet T [UPAC A f%aﬁgq |

(3) ‘a’lﬁﬁ@aﬁ@%@ﬁ%ﬁﬂﬁﬁﬁﬁa% |

() [Co(NHs)]** HFe ST 1 i for TS |

(a) Write [IUPAC naie of complex K [Fe(CN),].

& 0

(b) Differentiate between homoleptic and heteroleptic complexes.

(¢c) Draw the geometrical diagram of complex ion [Co(NH,)]3+,

18. (31) fromeRier st w1 43 fofay | _
(¥) ﬁw%%ﬁwﬁﬁqﬁmﬁa%@ﬁﬁmqéggmmm%m:

. C
(i) CH,-CH,-OH——
| 573K

(ii) CH3_CH2_I +Na—0-— CH2—CH3——>

ss-41-Chem.
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(a) Write structural formula of glycerol.
(b) Complete the following chemical equations and write the name of major

product :

@) CH,-CH,—OH G
573K

31ar/OR

(37) el igeRTel 1w g fafe |
() Frefeifan TeTafies el ) gl ST T g g s A ffeT

CH ,
(1) 3 >CH _OH _CE_.)
Ly 573K q
~OP

(a) Write structural formula of ethylene glycol.

(b) Complete the following chemical equations and write the name of major
‘product :

) CH-OH — 5
CH,/ 573K

Al Oy
ii C.H.OH———
(i) 2C,Hs 23K

19. () Wqﬁmwmﬁ%ﬁ@m@ﬁwﬁm

el T AT © 7

() %-ﬁwﬁ—ﬁ%@ﬁmﬁmﬁmﬁmﬁml
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(a) Why formaldehyde is more reactive than acetaldehyde towards

nucleophilic addition reactions ?
(b) Explain Hell — Volhard — Zelinsky reaction with the help of chemical
equation. 142=3
. & i

319aT/OR
(3%) USHTHS ST ST PIfCeRTeS it i e i aehetl 7
() Toire rfrfsran =t Tt wftetor < gemar @ auemsT |

(a) Why formaldehyde cannot be prepared by Rosenmund reduction ?

(b) Explain Schmidt reaction with the help of chemical equation.

g -
_ SECTION -D a\
20. (37) mﬁmﬁ@gmaﬁwmmmmw.
(=) aﬁZnEﬁﬂﬁg%Fﬁqqﬂﬁmﬁﬁwm~o.76vﬁra‘rmm

R ICCIE T ﬁﬂa'ﬁmw |"-"

(®) 298 KntOOlOM}Clﬁamﬁmm 0.00141 S cm™! 2 l‘sﬂiﬁq‘[m
AT 6 O BT |

(a) Write the chemical equation of reaction taking place on the anode in the

process of corrosion.

(b) If the value of standard reduction potential for Zn electrode is — 0.76 V

then calculate its standard oxidation potential.

(¢) The conductivity of 0.010 M KCI solution is 0.00141 S cm-! at 298 K.

Calculate its molar conductivity.

IAYET/OR
SS-‘“‘Chem'
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(37). Wﬁmﬁmmﬁaﬁaﬁmwmﬁmmm |

(¥

()

(2)

(b)

()

aﬁMgsﬁa@E%%qmmﬁwmm—z.ﬁviﬁ?ﬁ%ﬁm
arffier R R o AR |

208 K W 0.1 M KC/ frerm & wt =erehal 9t &1 oy 100 39 § | def
@ltﬁwwﬁam?aﬁﬁ{m (farg - K C/ freram Y =Iefear = 0.0129 S cm™))

Write the chemical equation of reaction taking place on the cathode in the
process of corrosion. '
If the value of standard reduction potentlal for Mg electrode is — 2.37 V

then calculate its standard oxidation potential.
The resistance of a conductivity cell filled with 0.1 M KC/ solution is 100

~ ohm at 298 K. Calculate the cell constant. (Given that — conductivity of

(37)
()

(@)

(a)
(b)

()

KC/ solution = 0.0129 S cm™)

Wﬁﬁm%ﬁmlog—

CH,CHO(g) —> CH4(@£€()@;
am = k [CH;CHOJ?2
WW%WW@W@%W%WWI
9 2 e g i ) Rfes AT 0.02 mol Lt R g
fRTie T 2 x 1073 mol L-1s~! 2t 5ot 3rety R AT R |

a .
Draw a graph between log Sir and t fqr first order reaction.

For the reaction CH;CHO(g) —> CHy(g) + CO(g), rate law is
rate = k [CH,CHOJ**

Write the order of reaction and unit of rate constant for the above reaction.

The initial concentration of reactant for zero order reactionis 0.02 mol L-! and

' value of rate constant is 2 x 103 mol L-'s™! then calculate its half life.  1+1+2=4

JAYaT/OR
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(37) wem ife Sffshan % 1 log (a - x) wd ¢ 3 men arivE w=T |
() 2N,05(2) —> 4NO,(2) + O,(g), hifram ?gan
A =k [N,05]!
Wm%mmﬁm@aﬂmﬁmw |
(§) ¥ <hife AR 2g S1iverres it wrifires @izar 0.2 mol L) B T 3T
g 10 s @ SIFFR % 3 e 6y ropn 1fdre |
(a) Draw a graph between log (a — x) and t for first order reaction.
(b) For the reaction 2N,04(g) —> 4NO,(g) + O,(g), rate law is —
rate = k [N,O]! '
Write the order of reaction and unit of rate constant for the above reaction.

(c¢) The initial concentration of reactant for zero order reaction is 0.2 mol L-!

and its half life is 10 s then calculate the rate constant for the reaction.

g ug -

\ SECTION~E
22. (31) foroam w1 wamatyes 9 fofgn | h

() @I Wﬂ@mwmﬁﬁﬁ?ﬁﬁlaﬁéﬁwml
(@) ﬁﬂ%@ﬁﬂﬁﬁ%aﬁwﬁﬁ@ﬁﬁm

(i) NaNO, +HsSO, —»

(i) H,S+ClL—>

(a) Write chemical formula of gypsum.
(b) Generally noble gases are least reactive. Give any one reason.

(c) Complete the following chemical equations :
() NaNO; + H,S0, —
(i) H,S+CL— 1+142=4 _,
AYET/OR .

SS-41-Chem.
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(37) TIEH AT HT TETARS g e |
(%) 18 3 et 1 Seep el 35 A & ST AT & | T A
(@) Frefaian Tamate a5 g I :

@ Bal) o
(i) Cl+H,0—>
(a) Write chemical formula of Epsom salt.

(b) Elements of group — 18 are known as noble gases. Give reason.

(¢). Complete the following chemical equations :

Temperature
—_—

(1) Ba(N3)2
(i) CL+H0—

a19ar/OR

(i) 2N3N3 =

CUC!Z
s 3 O—>— "
(ii) 4HCI ) 723 K

(@) Write chemical formula of copper pyrites.
(b) The value of jonization enthalpy of noble gases are very high. Give reason.

(¢) Complete the following chemical equations :

Temperature
(1) 2NaN3

0 CUC12
” 4 e —— =
(i) 4HCI*52 723K
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23. (31) ferer FeinIES 1 E g fafa |
(/) ﬁnﬁ%ﬁﬁﬁrﬁﬁsl\ll aﬁ:ﬁm%gﬁry&mﬁm%aﬁmﬁ
TR HIT : |
CH, A"/
CH; - CH, - Cl, CH; — CH - CH,, CH, - (I: —~CH,
& &
(@) ﬁsﬁnaﬁrﬁmﬁmﬁmwﬂwﬁmﬁml | 1+1+2=4
(a) Write structural formula of allyl chloride.
(b) Arrange the following compounds in increasing order of reactivity towards
Sy reaction :
CH,
CH, - CH, - Cl, CH; —CH - CH,;, CH; - Sll“x CH;
ClI l
(¢) Explain Fittig’s reaction with the help of 'qhemical equation. .
Y41/ OR
(37) aTEFIe FARIES BT HEH I fafian |
(@) ﬁmﬁrﬁaﬁﬁﬁrﬁﬁsNza&m%ﬁW%mwﬁ
S HifsT :
CH;
- CH,—-Br, CH; - CH-CH;, CH; - (|3 — CH;4
Br Be
(@) e SRR Bl TaTafes wfieto i aem & 93T |
(@) Write structural formula of vinyl chloride.
(b) Arrange the following compounds in increasing order of reactivity towards
Sn2 reaction :
CH,
CH,; - CH, - Br, CH; -CH-CH,, CH; - (IJ — CH,
1|31' 1|3 r
SS_4l‘Ch e
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(c) Explain Sandmeyer’s reaction with the help of chemical equation.

FJ¥ET/OR
(31) SR Feirugs st e g3 fafEe |

(@) Frefefaa et w Tivmerd sl sirfrmst s siq s 5
e T 1 safer Hif :

CH,; - CH,-Cl, {O)-Cl, CH,CI

- ®) -wmﬁmmaﬁmaw

‘% B
(a) Write structural formula of benzyl Ch]om%@; ‘%ﬁr

(b) Arrange the following Compoun&sum mcreasmg order of reactivity towards

nucleophilic substitution reactions :

CH, - CH,~Cl, {O)-Cl {O)-CH,CI

(c) Explain Finkelstein reaction with the help of chemical equation.

SS8-41-Chem,
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